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General Instructions :

S9/2

(i) All questions are compulsory.

(i)

(iii)

(iv)

(V)

(Vi)

(vii)

Questions number 1 — 5 are of one mark each. The answers to these questions

shouldnot exceed 20 words each.

Questions number 6 — 10 are of two marks each. The answers to these questions

should not exceed 40 words each.

Questions number 11 — 16 are of four marks each. The answers to these questions

should not exceed 100 words each.

Questions number 17 — 21 are of five marks each. The answers to these questions

should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your answer-

book.

Questions number 22 — 27 are of six marks each. The answers to these questions

should not exceed 150 words each.
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. 39eh o= | YA o SR <hl T THET =1 AT 7 1

In your opinion, which was the main problem of the North-East people ?

2. 3E SH ATEIH sl UgATH TST8ehl 7T Al foh 3794 YTehideh TETEAT W R GG <l
EREMEIR 1

Identity the popular movement which demanded the control of local communities
over their natural resources.

3. et vd’ T 31 TS it | 1

Explain the meaning of ‘Privy Purse’.

4, TEACEa AP A FYT TIH TR I TRATH & 7 1
(a) TE Al T ohl HHASIKI ol IR {ehAT |

(b) 3O G U=T IHLHT TF 37T <01 hl I &A1 o &= HEfieh 3T i IATR
TohaT |

(c) 3E- eld =hl {1 <h! Ifea bl IR TehaT |

(d) 38 a1 3cdTGeh <M1 H Tehdl gl <hl |

Which one of the following statements is TRUE about the First Gulf War ?
(a) It reyealedthe weakness of the USSR.

(b) It revealed the technological gap between the US military capability and that of
the other States.

(c) Itrevealed the strength of Kuwait military.

(d) It united the o1l producing countries.

5. 30d Ig b G, THI HETITFaAl o s Jdgigal sl T&I T T T ? 1
What was the main reason for the rivalry between the two super-powers during Cold
War ?

6. TC-THTUE HATGIH hl hig Gl fORTATY {TRIT | 2x1=2
State any two features of Non-aligned Movement.
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7. oG] o Tedl ohi 181 i &d g ol SUT sy | 2

Suggest any two measures to protect the interests of the indigenous people.

.  JATRIUT <k TehET Weh ST T Tageiyur shifSu | 2

Analyse any one cause of globalisation.

9. Il ‘A’ % A qf T TN /HRIKHT I, I ‘B’ = HaTd 1T T TsHIfdeh getl 9

gal THeA hifaT | 4x~ =2

gl - A ot - B

(a) TEAdATT e H feus fage sl sgran feam | () YR S9ed

(b) IEH Tsh <V, Th HEhid 3R Teh UL b O=AR W (i) &Iax Ul
ST & |

(c) I8 U hihd THISH, USFHU AR (i) WRAT TS HEH
HTeISTIHh &3 < fo%g ol |

(d) /384 Ueh HMEINh IR [GORERHS T3a9T o (iv) SR ITel 3ATh Al
®Y o 1A {oh] |

Match correctly the policies/programmes given in List A with the political parties
ogiven 1n List B :
List— A List— B
(a) It encouraged violent uprisings in (1) Bhartiya Jana Sangh

Telangana region.

(b) It emphasized the idea of one country, (11) Swatantra Party

one culture and one nation.

(c) It was critical of centralised planning, (111) Indian National Congress

nationalisation and the public sector.

(d) It worked as a social and i1deological (1v) The Communist Party of India

coalition.
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10. WRd SR 3TIHISRT o6 THYE H 331U U feheal el sheH]l shi ISR hifolu | 2x1=2

Highlight any two steps taken by India to support the decolonisation process.

1. 3ftd Jg o I9aTd YA 3T 3ThRT o o a4 shl SAEIT shilT | 4

Explain India’s relations with United States of America after the Cold War.

12. WA W 1962 o =4 gRI fohT 7T HATSHAT o Teheal I HEd THUTHT shi HedTehd shilsg | 2 x 2 = 4

Evaluate any two major consequences of the Chinese imnvasion on India in 1962.

13. Todia g=adfa Jier b forel =R fosiedrai et 9ui shifsu | 4x1=4

Describe any four features of the Second Five Year Plan.

14. 1989 & °hg T TE3EUH shl THRI o YT hl 3T o I 1ol Tehral AR SGATdl hl TUH
I | 4x1=4

Describe any four developments that led to an era of coalition governments at the

Centre since 1989.

15. Teawaw 1961 @ TiaT sht Gidkd o ToTt ITRGRIT Te13AT 3T ShRUT hl TISC ST | 4

Explain the events and reasons that led to the liberation of Goa in December 1961.

16. I TS o TG ¢¥ o €Y U YA o1 T S L& IHwg bl TR Fg=adr & folu
TSied g1 & | Tohrgil Q1 ST dehl oh JTUR U 34 e T THYA HITT | 2 x2=4

India, as a member nation of the U.N. has a strong claim on the permanent
membership of the UN Security Council. Support this claim on the basis of any two

suitable arguments.

59/2 = |P.T.O.
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17. TA=AfcTREd 3TN bl LATHYee IieU R ==l 14T 991 o I feilgu - 1+2+2=5

<1 oh TR ATHR 3T HAGIATSAT shl W -H{ehH &1 o (018 § &l ggetl 3T
<[Td 33T el U, Sl TAGIATAl shl Ueh Se! dIgle TIe 3TN 3F9g @I ehl oY 3R U™
A&l H I8 AT SAlehad ob 11T GLI&T hl shicd TSl AT | 39 ek doh AAlchadl 9% -1 ¢l
4 & I T, HEIaIT JUY U7 Hal STHIERT, STal e g Brferd o | 39 993 9
SgAL Q21 H HIGATHT hl HATIIRR &1 fH0ell o7 | WH H TE~e&d™ H HIeHH SI3&h FAlleehi
T FTHA BIAT H I8 HU 3 H 57 FIRGH T T 7 |
(a) ‘AT T AR’ ol o1 AU & ?

(b) TEAAAT o YYETd, WRA o Ul 3ATH TATE ol fohd SMUR T 33T 9T Alhad i
9y g1 qdaTT hal Jdl & 7

(c) UUH 3T TATE] hl ThAdT - Tohtl Yh WA H SAlehdl(Aeh JishaT hl Hsled fehaT ?

Read the passage given below carefully and answer the questions that follow :

It was not just size of the country and the electorate that made this election
unusual. The first general election was also the first big test of democracy in a poor
and 1lliterate country. Till then, the democracy had existed only in the prosperous
countries, mainly in Europe and North America, where nearly everyone was literate.
By that time, many countries in Europe had not given voting rights to all women. In
this context, India’s experiment with universal adult franchise appeared very bold and
risky.

(a) Whatdoes “universal adult franchise’ mean ?

(b) What made the first general election in India after independence unusual and
the biggest test of democracy ?

(c) How did the success of the first General Elections strengthen the democratic
process m-india’?

18. TI=feIRad 3Taawur shl &H ¥ Uied 3T = foT U9 o 3o farav | 1+2+2=5

HIUY i 72 ° 30 Ml hl TR TeTqd H 3 T3 | L&, S1.TH. o N YR
R U] THd HB =T Tl H ATed G- 3T THU o g1 TSI MY i ThK
ol 4 o1 @l | 39 3RE & S TR A Fid ® 9 301 Bid bl UGl T H s

... G TSHITdeh Gl W ATHT WA FHT i, §He H 39! arel =hl f&afd
HSTe[d Shi 3TN 379 ShTIshHI o U&T H THICI B i <hl TS € 3IGU Tt shl TR A
1970 o TCETSR H TAREHT 97T hL ehi I h |

(a) HEAd: I Hl =TT o T ShIUH T H ¢ Ua1 53 7

(b)  3TU TLHT hi BfT o1 FHISEE T H 997 T o fo7u sfeu mefi gro foru o fopedi
a1 JATET <R 3TTehaeTd <hifalu |

(¢) 1970 H ATHEHT W hid ohl o1 TNOTH Hehedl ?
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Read the passage given below carefully and answer the questions that follow :

The split in the Congress Party reduced Indira Gandhi Government to a
minority. Yet, her government continued 1n office with the 1ssue-based support of a
few other parties including the Communist Party of India and the DMK. During this
period, the government made conscious attempts to project 1ts socialist
credentials. ... In order to end her dependence on other political parties, strengthen
her party’s position 1n the Parliament and seek a popular mandate for her

programmes, Indira Gandhi’s government recommended the dissolution of the Lok
Sabha in December 1970.

(a) Which event was mainly responsible for the split in the Congress Party ?

(b) Assess any two efforts made by Indira Gandhi to project socialist credentials of
her government.

(c) What was the outcome of the Lok Sabha dissolution in December 1970 ?

19. ==l Ted T 3T bl LY UieT aUT HE=TTRId J9H1 o IaAL GIIT - 1+2+2=5

YR 4 GraTe] 18 geoh Ol <1l o 1Y 3= qaY Y 6T 7 olfhd Yd o deY
& o 1Y T SATET Tl 7 | TR <hi foreer Hifer =61 e Aemaqul Uae] WA &1 €6 & A1
ey § | YRA-&§4 a4l ol 3faar@ uet faveams 3T @t faal o1 3faem™ 2 | YRa-&4
 STTTHT TEE 3 €01 shl a1 <h! T H Ued T @ |

(a) ¥ b Al ehi- HT ATIATG! <31 Ueh HEId oh ®9 H SHTET & 7
(b) R 3 T % Heel bl T8 Teiaed 991 GHST ST 8 ? IS & T faflaw |

(c) Torwel a1 ICTELUN g I8 SuTST foh WA 31K &9 o Gad] ol sfderd 9 favams
37 i faal 9T 3memia © )

Read the passage given below carefully and answer the questions that follow :

India has maintained good relations with all the post-communist countries. But
the strongest relations are still those between Russia and India. India’s relations with
Russia are an important aspect of India’s foreign policy. Indo-Russian relations are
embedded in a history of trust and common interests and are matched by popular
perceptions.

(a) Other than Russia which communist country i1s emerging as a big power ?

(b) Why are the relations between India and Russia the strongest ? Give any two
reasons.

(c) Give any two examples of Indo-Russian relations to show the history of trust
and friendship.
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20.

Wy Caglacartoons Coin

ST TSU 7T ThI¢H 1 SIHYeh TEII hitoll R TR Y9I eh ITL QT : 1+2+2 =5

(i) TSI TR IeH Tehdl Hl-eh STTRIE H a8 ?
(i) ‘39 Bl B Bl Ie3d 1 AT 7 I8 fohd HHT deh =—ATFHTA T 7
(iii) & T I¢ (FMBM) T foTd gU Tai¥—= <M = 191 1 FIT T & ?

Study the ¢artoon given above carefully and answer the following questions :

(1)  The given cartoon 1s related to which military operation ?

(1) What was the objective behind this military operation ? How far was it justified ?
(111) What do the names of different countries written on the uniform of the soldier

signify ?

e HHTRIT I halet gieeaTierd el o et I ST 20 FEAH W : 1+2+2=5
20.1. TUHHAT ATH-TA-ATs fohy fommam 8 gafea o 7
20.2. WRd 37 o o 99 o fohegl 2l &1 T ool hITTU |
20.3. M A 3791 TS Tdeh aT 3ATIeh TehidaTd o I hd THT T ?

Note : The following questions are for the Visually-Impaired candidates only in lieu
of Q. No. 20 :

20.1  Mention the 1ideology to which Premier Zhou Enlai belonged.
20.2  State any two areas of contlict between China and India.
20.3  When and how did China end 1ts political and economic 1solation ?
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21.

S9/2
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fou U vRa % Ui W@T-aHtaE ® g TS @ (A), B), (©), (D) 3R (E) g/
fafed v T 8 | = €1 T8 AR o YR I $1h! Ug9H <hifoTd 3T 39 Tal 91,
TN <hl T8 THeh R shl shH TAT T Haierd 3781, < ¢l 7T dlfetehl o ®9 H [ARGU : 5 x 1 = 5

TN <61 T8 STHRR] <hl shH G

e 1d 378

{0y <l 4H

(1)
(11)
(iii)
(1v)
(V)
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(1) 1947 < IS o 99T 39 TS ol TTehed ™ TR WA b S TaHed TohaT 7T o7 |
(i) TEHARAHI29 T TH G |

(i) IBTST 1966 H F=T AT T |
(iv) 39 TSI <1 TgelT HEIHAT TATeTeT T |
(V) 8 UST TGN U §19 H Fe (4 2 |

In the given political outline map of India, five States have been marked as @,, ,

©, @ and @ Identify them on the basis of information given below and write

their correct names with their respective serial number of the information used and
the related alphabet as per the following table :

Serial No. of the information used | Related Alphabet | Name of the State
(1)
(11)
(111)
(1v)
(V)

(1) This State was divided between Pakistan and India at the time of Partition 1n
1947.

(ii) This State is the 29" State of India.
(111) This State was formed 1n 1966.
(iv) This State had Laldenga as its first Chief Minister.

(v) This State 1s related to Sardar Sarovar Dam.

Aie : HHETIRId 99 shacl giReaTierd Temiai & [t S e 21 h®IH Wa: 5x1=5
21.1. “YRd b 29 o T<T 1 91 ToTRIT |
21.2  UIh&d™ o T34 o ol gfeetd it g Tehd TgTa o1 TiaaTe TehaT /=11 AT 7
21.3 1966 H AN YR T ST 7T Gl TSAT 1 A8 TARGT |
21.4 TFAAAT o GHF YHA o IF ° G JaI U /&7 3TTH T YT T8 o 7
21.5  3TTH ST Thsil YA o Tohd TS & Gafed o ?

Note : The following questions are for Visually-Impaired candidates only 1n lieu of
Q. No. 21 :

21.1  Name the 29" State of India.
21.2  Which theory was advocated by Muslim League for creation of Pakistan ?

21.3  Name the States formed 1n 1966 on the basis of language.

21.4  Which two North-eastern States/regions of India were not part of Assam
at the time of independence ?

21.5 Angami Zapu Phizo was related to which State of India ?
39/2 10
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22, Toava WU H Shel BT O HaTal o €13 f&dl &1 9uH shilau | 6
GG
JvefieRtur & 9&T §, WeEnfirehl gr fafi= aiienl @ feu v Inrer 1 9o HifSu |

Describe the common interests of the indigenous people spread throughout the world.
OR

Describe the ways in which technology has contributed to the cause of globalisation.

23. i hl FAATIEAT oh A oh ToTU ITGR Teheal - T hehl hl AT HINT | 3 x2=6

I
SfieTeh] § AT ™ TS shl Yehld AT HEF hRUT shl TISE <hITT | 3H HeN F Hiciehl o T
forehTd o1 oh®l Tierd TehaT ? 4+2=6
Explain any three major factors responsible for the rise of Chinese economy.
OR

Explain the nature and main cause of the ethnic conflict in Sr1 Lanka. How did this
conflict affect the economic growth of Sr1 Lanka ?

24, S -HRHILH I o TIT ITLERN dH J&I L1131 GUeT0] hIfaU | 34 THEI13Tl %

W%WWWI IJx2=6
I

YRA oh fohTH1 <hl SHE@ FHEATT ST G0 HITT | 370 9 fheal di9 % THIYH % foTu

34T HATRU | 3+3=6

Examine the three main problems responsible for the unrest in Jammu and Kashmiur.
Suggest measures to solve these problems.

OR

Examine the major problems of the farmers (Kisans) in India. Suggest measures to
solve any three of them.

25. Tova @ fEon ot wifid o & fote, 37mdes fo=m &, Tgam o 9 & oA el qgwyul 8 ?
WWWI I3Ix2=6
COCH
TIH Y S TS FISH] ol 3T TG F1 HFd & 7 Tohral I HRUT T TITeTTl
hITTT |
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In your opinion, which three steps of co-operation are important to limit the violence
in the world ? Give your view point.

OR

Why do you consider international organisations like the UN 1mportant for the
world ? Analyse any three reasons.

26. |Rd T Id 1975 H ATHTAHTSA shl ST b ToTl ITLrRIT TR 31 auE HiT | 6
YT
1969 T SHIUH UTET b TTHTS o ToTT ITLGRN Tohral 14 ShRUTI Sl FUM hiTT | 3x2=6
Describe the circumstances that led to the declaration of emergency 1n June, 1975.
OR

Describe any three reasons responsible for the split of Congress Party in 1969.

27. ek 9T o Tohedl ®: aieommi =61 fargetyor SHifsr | 6x1=6
G
Tg— gl shi I o &Y H e -HTUEIAT shl YiHhT 1 3T <hiT |

Analyse any six consequences of Shock Therapy.
OR

Assess the role of non-alignment as a challenge to bipolarity.
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